¥

gL

~
\\
.
X

ﬁ»,\
2"

8%

A
/)

¥ 5,
i
“'

K\

N
\\4
S

XA

L -
:;s
|
]

L

dlaa 2\.’..414
mu\ AJSM

®w e

L",\'lﬂ\ Jeadll

2

3

pe et —
refe 2% objectsme "y ey Jeue
mer bO’:-a ag gnaxp‘ﬁw?ntk b ee 2 lW'l-
codesime l"wmep mm—‘ 6|~
nodemmebhmdlme ,,ggaabgg =
sbnng gonbhm arch J L:
ol ; chqscs :4 “i-

frsbﬂjﬁgﬁu‘iﬂ 'd'aba u"J-rooli el 7|

h:\?sulb u badle_ '$"§ - e gcg
=0T ey °"“ o

l & noxt

Dr. Mo

/_‘ uhh:.d\‘f.gouJUM\ 84l e
M.AM‘ b _palaalle

top

nammed AL-Mohammed




A gad) il 3 ) 931
Recursion Algorithms




4 N

Recursion 423 ¢!
S e sghis sl SSlaedl =) asyb e tdsgell
sle Juazi (i H20ly y2ol die59 Jilue J] (@lwed)alS i)l
ey JSoian Lpl> oSy @l sy @laSl 4 Loy 80 @l

g3 V 18 il > (59 lpwss (scaiwn @b @sgell ouni bo 83leg
Ap>lgll e ol gl Jio

oo UsSs 38 sl Blwel @sul Jsl> alSh W g @ysgell
Lpizeoy la> ol

base caseawlwl Al ale wgSy Ul Sy @dge duos,lgs SI-
ALVl Al g2 iy lpidls> 388 O L @usge dun))les Sl

éu,Sbg_c) SHLSS JSaiw sy wseiww Ol S audgC Aun),lgs> sl-
A




4 N

Recursion 423 s
il s 5 () 1 0 20 s (Sl GUSGial gt oy llrg GSiall ol i o0 60390 )05

Spadan il Lo faad s (3 00300 many (Sl ASial o dsalylg (udhshe sl 92 15 )00
Base case waclall dlall — e ai3 sl AlSigll samg il dS.I.I.I.l FIEQ SEvimy

i dua Gnlall Sl Sl Ll o ey Cuaylodll gl L Basan duaals o ngall 5] )0y
eyl JSliiall dlaguy Jala syl Ggel

S Sl (ye Byding BySal b 31 Jall slas o o Sy Jal saullil] 6 Sall (po ddidig duagelly
g’ L:TCM &llg:;.’l gg.fu Ellag

A penig peni ddh, aliivall guas Ja) :auddll
.5pblog Sp2n &S SRSl &liiall Juns

(- y




4 N
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f(n) = {2 *1f(n —1) whenn>=1 L s

n=20
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Factorial Function wo\2)) g1
:(n!)Factory :wlalall -

nl=nn-1)(n-2)!00.n! = nn-1)! §f ala

1! = 1:adl Base case auaclill allall ol Jalg (Eaa0ll) Sliledl aan HEY Gia o (23S0

.long fact(int N) nl=nxn—-1)*(n—2)*..x1 ;g5 Jau
.int retval=l;
. for(int i=N;i>0;i--) dtloall ylySi (o Glaladl Lo Juand clig
. retval=retval*i; retval =retval i
. return retval;
retval=n*(n—1)* (n— 2)..etc
1.int fact (int n) 139c Jauw
2.
3.1if (n > 1)
4 return (n * fact (n-1));
5 . 9132 . e . ‘. " + & ¢ w8
aagall Salely clibg awas ool fact &l ooy gagell JSuullyLisd Cua
6.return 1; : ) "
7.} .1_||5a90_||gLQch,_q;.*n:0mulalL¢|n>lLdunn*fact(n—g/
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dyaclill Alall Lo sliy elisg alih Lo Giadiy gas Lo aaial Fib dadii o
Fib(0) = 0, Fib(1) = 1 = Fib(n) = Fib(n — 1) + Fib(n — 2)
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1. void Hanoi (int From, intTo ,intnum) {
2. int Temp=6-From-To;
3. if (num==1)
4. cout<<"move'<<From<<"to"<<to;
5. else
6. Hanoi (From,Temp, num-1)
7. cout<<"... .
8. Hanol (Temp,To,num-1)
9. cout<g«".... 7}
() dioll £gonal Shapl adzill ga Gayd 1 d T(n) lajll axis=ill )
Hanot (n) §9iLm ia)ylail Grayll adalll &
e - I
Hanoi (n—1) Hanoi (n—1)
Tn—-1) Tmn—-1)

Tm)=Tn—-1)+T(n—-1)
Tm)=2-Tn—1)

T(n) =2(2-T(n—2)) = T(n) = 0(2")
Tn)=4T(n-2) )
T(n) = - dan 5aS ie) agiei gmg

Tn)=2-2-2-....2T(1)

@ T(n) = 2" y




. #include <iostream.h>

. long TwoRaisedTo (int N) {
.int retvValue = 1;
.for(int i=N; i>0; i--)

. retValue = 2*retValue;

. rYeturn retvValue;}

.int main() {

.cout << "2 to the 5th is " << twoRaisedTo (5) << "\n";
.return 0;}

OWCoOoJoOdWNPRKE

//Recursively computing powers of 2
#include <iostream.h>

int twoRaisedTo(int n)

{

if (n == 0) // special case

return 1;

else

return 2 * twoRaisedTo (n-1);

}

10. int main ()

11. {

12. cout << "2 to the 5th is " << twoRaisedTo(5) << "\n";
13. return O;

14. }
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3 1 0 Cila Sl
h(2)=1
h(3)=2+1=3 Goyadll + Bayandl Claslagll sac h(1) =0
h(3)=h(2)+2=3 i " Base case
h(2)=h(1)+1

= h(4)=h(3)+3
hin+1)=h(n)+n
hin)=h(n—-1)+ (n—-1)
hin—1)=hn—-2)+(n—2)
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. int ged (int a,int b) {
.1f (a==Db)

. return 0O;

.else if (a>b)

. Yreturn gcd (b,a%b);

. else

. return ged (a,b%a) ;}

:(gcd_ll &) :daag=ll ddyplally (puaasl JaSYI eyl jarulall alayl :d'l.:io\

. int ged (int a,int b) {
. 1f (a==b)

. return 0,

.else 1if (a>b)

. return ged (a-b,b);

. else

. return ged (b-a,a);}
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return gcd(b, a%Db) dctl=ll
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Linear search whall &ayl Vgl

l.int linear search (int a[], int n, int target) {
2.1f (n<=0)

3.Return -1;

4. else

5.1if (a[n-1l]==target)

6.return n-1;

7.else

8. return linear search (a, n-1, target);

9.1}

golill sle sl gl dusgall S5 o L e Loy il Gl Gl deaylah (re diludl da)ylgdll o Gyall aadly
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a[5] ={22,11,13,81, 5} :ddgiuanl pladiwl déslull dua))lgadll 2uiill (Jgan @i

target 11 wgaallsac :5 (dagamclli:q :Cua

™~

trace linear search (a,5,11) :gWl

pass N n <=0 aln—1] ==target | reurn value
1 5 F F Is (a,4,11)
2 4 F F Is (a,3,11)
3 3 F F Is (a,2,11)
4 2 F T 1




.int binarysearch (int a[],int first,int last ,int target)
- {

.if (first>last)

. Yeturn-1;

.int mid=(first+last)/2;

.1f (a[mid]==target)

. Yeturn mid;

.else if (target<a[mid])

. return binary search(a, first, mid-1, target);
.else

.Return binary search (a, mid+1l, last,target);
12.}

W oJdJoord WK

B
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a=1{1,6,15,22,37, 45,52}
@ trace binary search (a,0,6,37)

Recursive Binary search wsli)l &al :Li

g.ca.mu“ + almid] (= J.n_ni' target I (s 5o awal @ Al slealul g.n gA angell dg)ylga g.n QLAY
prdly s gl e xiue a[mid] (o sl target ol slg mid — 1 A last sl paly awa’ g il
mid + 1l first yielyd
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‘target:37 «aac yAT Juda :6 aac Jgl Juda:0 (dogamall :q@ :Coea

_PCISSN _f L f <l | md| almid] == target a[mid] > target | retualue value
1 0|6 F 3 F F Bs(4,6,37
2 4 | 6 F 5 F T Bs(4,5,37
3 4 |5 F 4 T — 4

a|mid] > target byigmid Ly if (first > last) derleilly first g last Slyeioll Joda Lining

@

;3..1L94-|| WIQ

"False" 3iaiyal f < | bayiig 6 92 ypaic yaly 0 o2 paic Jol index ols ypas Jol go -

6+0

byilly "False" 3iaiy al a[mid] == target byis 3iaiy alg mid = - = 3 g -
Bs5(9,4,6,37) Cilylalylull yus'i o awa’ glill (& Salaall dogdll 953 Glillg a[mid] > target
target i gle Juaa' ia giill b JoSig first = mid + 1 ol gl
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Pivotuo ,usY\ alacll pivos Pivotae pS U1 alachl

1l.int quicksort (int a[], int first, int last)
2.1

3.1if (first>=last)

4 return;

5.int split (partition (a, first, last));
6.quicksort (a, first, split-1);

7.quicksort (a, split+l, last);

8.1}
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:Glylalldl alg partitionl oxiu 945 quick sort Lol pivotlindex sl

ddgauanll :q

quick sortl ale uat gl Jaall gpuaic Jof index :first

quick sortl ade Gual gl Jaall gpaic yalindex :last

3950 b (s 9 LeS bl che il JS sic GliA% ash o last g first oilele

2Ll (0 Balaodl dogdll QT Badl Ellal pivot —lindex sng int £ (0 ELaum dac oo :split Lol
split = partition

int split = partition (a, first, last):gi=d int split (partitiﬂn (a, first, last)) dadlell 4l Eua
il paliell ging alig Split aldsg a[split| & aiagdy pivot Ll saaly partition i sealul 1oy
oo Jlaall ole quick sort i slesiul oy al wany Split I (s yisiy ales PivOt Ll (o yisal
JAdghuaall JS Lyl ol o [split + 1, last] o« Jaslly [a, split — 1]
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syl L4l Li s Liaing LoS 53049 aldh pualiall (Bl yyat o Liflgdic o)Ll ol delall diybally
yaual dais y3T o yayiis a[first] sm Pivot o gayss duaeyul slasilly Jaall Miguiis da
O Jag paliall JSI dalleoll ddac gl ic Suay aflast small] » pivot i s«
gaaall allss 5 pivot Al zuass pivot iy aflast small]
:last small juisly daalleqll ddoc (2
pivot Jlindex Jisi first Al zuays a|first] on last small i Ol sayas dolagl oS
Pivot -l (e yiual HS 131s @[ first + 1] ypaiall (3o dallasll Tasi gadl dlss o5 last small i
LS [3]g ¢ daalall byl d ol Jal o last small 4l on zuayg last small + 1 wia G anial
cailSs i PIVOL (e pus i

.int partition (int a[], int first, int last) {
.int lastsmall (first) ,i;

.for (i=first+l;i<=llast;i++)

Lif (a[il<=a[first]) {

.last small++;

.swap Elements (a, lastsmall, i) ;}

.swap Elements (a, first, lastsmall);

. Yeturn lastsmall;

.} <//
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